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wiE: A M0y 7AINRE

10mL 7 [3 AL 7 mesRis D 1 BlE IS ]

TErTI/TT2A0mg Y7 T ZIVES o)

0.21667mg; 7 TEEFNE 22/ 3.33mg; '77/1’7170‘/\/

10.8333mg; £4# = > B1 igE&18 1.333mg; E2 =X B 'J‘;
4 .

BITXTIL 0667mg, XA 445mg; F 3722 445mg;
A 33.33mg; AV 22.17mg

wiE: A M0y 7AINRE

10mL B [3 R E 7 RAFHD 1 D= TS ]

7 I\T’E/7I‘/4Om9;*/71_)lxt ) >V iRE

0.21667mg; ¥ TV EBF N2> 333mg; 7714 7 T X
10.8333mg; £4 = > B1 BEEIE 1.333mg; EX X B2 1)
BT 27 )V 0.667mg;, X7 44.5mg; F3 V= 44,

A 33.33mg; H>V7 22.17mg
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10mL & [3 R E 7 ARHD 1 IEIE THEH ]
/Jal\/\/71/40m9 JT7xZ)IbES b2}
0.21667mg; ¥ TV BF N2> 333mg; 777 4’7170‘/\/
10.8333mg; £4 = > B1 BEESIE 1.333mg; EX B2 1) >
BT A7)V 0667mg; XA 44.5mg; 3V =2 44.5mg; 7
A 33.33mg; H>V7 22.17mg
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10mL 1 [3 R E 7 R 1 B ICHES ]

TErTI/TT2A0mg Y7 T ZIVES o)

0.21667mg; 7 TEEFNE 22/ 3.33mg; '77/1’7170‘/\/

10.8333mg; £4 = > B1 ig#&18 1.333mg; E2 X B 'J‘;
4 .

BITXTIL 0667mg, XA 445mg; F 3722 445mg;
A 33.33mg; H>V7 22.17mg

wiE: A M0y 7AINRE

10mL # 3L E 7 mAFHD 1 D= TS ]

7 I\T’E/7I‘/4Om9;*/71_)lxt ) ViR

0.21667mg; ¥ TV E#F N2> 333mg; 7714 7 T X
10.8333mg; £4 = > B1 BEEIE 1.333mg; EX X B2 1)
BT 27 )V 0.667mg;, X7 44.5mg; £ 37 = 44,

A 33.33mg; AV 22.17mg

[A4/ 2 —)b 86.4X50.8/ &RE : £ 21.2 & 21.8 £4 18.6mm]

miE: A MOy 7 AINRE

10mL A [3 AL 7 meRE D 1 BlZIciE ]

77X/ 722 40mg YT ZIVES ) Y
0.21667mg; 717@2?/\%:}\/ 333mg; 774 7 T &3
10.8333mg; 4 X > B1 h§E&I& 1.333mg; EX X > B2 !
@17\711/0667mg, <A 445mg; F 37 = 445mg;
A& 33.33mg; H>V7 22.17mg
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miE: A MOy 7 AINRE

10mL A [3 AL 7 KB D 1 BlZICiE ]

77X/ 722 40mg YT ZIVES ) Y
0.21667mg; 7 TVEFNNET > 333mg; 7714 7 T 23
10.8333mg; 4 X > B1 h§E&I& 1.333mg; EX X > B2 !
BT X7 )L 0.667mg; X4 7 44.5mg; & 37 = 44.5mg;
A& 33.33mg; H>V7 22.17mg
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miE: A M0y 7 AINRE

10mL A [3 AL 7 mRED 1 BlZIciE ]

TN/ T7T40mg V7T ZIVES U VIBR
0.21667mg; 7 TVEFNET > 333mg; 7714 7 T %3
10.8333mg; 4 = > B1 h§E&I& 1.333mg; EX X > B2 !
BT X7 /L 0.667mg; X4 7 44.5mg; F 37 = 44.5mg;
4 & 33.33mg; H>V7 22.17mg
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10mL 1 [3 A E 7 R 1 RIZICHE ]

77X/ 722 40mg YT ZIVES ) Y
0.21667mg; 717@2?/\%:}\/ 333mg; 774 7 T *3
10.8333mg; 42 = > B1 W§EAIR 1.333mg; B2 X > B2 !
@17\711/0667mg, A4 445mg; F 39 = 44.5mg;
4 & 33.33mg; H>V7 22.17mg
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10mL #1 [3 A E 7 R 1 RIZICHE ]

77X/ 722 40mg YT ZIbES ) Y
0.21667mg; 7 TVEFNET > 333mg; 7714 7 T %3
10.8333mg; 42 = > B1 W§EAIR 1.333mg; B2 X > B2 !
BT X7 L 0.667mg; X4 7 44.5mg; & 37 = 44.5mg;
4 & 33.33mg; H>V7 22.17mg
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